FUJIKURA PRECISION PNEUMATIC
coNTROL PRODUCTS

A2 259 0f

000 BFA2IE2} REGULATORS(H-& B15t7])9|

el _:‘H‘l'u‘iugl

-

‘A BYIIA RR:ZYLE 3F a2l
<43 g RP: ZZLUUAH  RS: YL AU HE
« Z4E dop| RT: -3 Het7|  TC: 9d HRIC

= =]

- UHs 2242 03] oY BY 4 U= SEE 1A 3|

* SPOT 87| RR: 2L o] BF:BF &2lH

AZ YR RP:ZFUUYW  BF:BF A
cAZ o0 RT:E-BWED|  RS:2EY Ao us

v
Q
re

3|

£ 2712| B AIO|2 J}E L= 42 MEIE S2HAA

SECELEE 02 71| 2|2 E HEA 3

Z Laminate RR: =Za 2340| RP: &

T SUANZFA| RT: M- HSY]  BF:BF A2lH
=

JS'. N B o @
=
Mju ol

. AHIZ LCDE TEe| ool 33|
=1k513

« RT2} RRQ| 27H2] A|ZS RS-M/SE RA[F22M O HUS
A7t 7hs LI

FUIIKURA PRECISION

9'”O|A|A|75I_g_(_%) PNEUMATICCONTROL PRODUCTS

>H I

- UE S0 22 MGE 2|A8I5HHAM LS
SR UMES =2{F 2A5He A
«LDC Zzb7| RR:zZ9 22f0] BF:BFA2IH

J2H] 25 M RP: 2Lz
ZAE A0 RT3 HED|

>R Ao 2
- LY 223 0fS| OHY SSE £ A= 8ES 71 FA
<2tZ 2QYH RR:z=FY Y2|0| BF:BF YUY
cUZORREYH|  RP:ZFULYH RT: -3 HEH)|
* 2{2|7] 3| RS: 2y Zeree
o A, BY A2 FE 717

- )
relid PES
- §2h7], R0t FRIo|M DLo R BEE= T2k H
Y Mojsts g2, HIH 22t S
<2 U7 RR:ZYL 20| RP: YUZSH
A

« ZHE Q7]

o J2fH[0f QU27|  «ZFE Wander

« RT2} RRQ| 2712 A|Z2 RS-M/SE nAste 24 O
A|0{7} 7t L EL.

RT: -5 #H&ty|  BF:BF &2l

o
=

Zo-l




RS
| A8 89 of
eee REGULATORY| AI2 = 0

RV

f 1
(TEiEE s g |

=g &H »EZ 0]
- CI2 Z]9| 7|3, UE HHZR S§lsk= X — 2™ olo] YA F7} sh= A= FHHOZ J|H|, HNE
<OK7|, 57|, 7IEF Q127|171 RR: ZEY o] ESsh= x|
e RP: g2 4 - 2], et AA7|A RS : REY 2wy
-+ QIx|o] 2 Zof 2| RS : ZHY 2¢t e RP : &2l Ziol
 Qlxfo] £A(7| RA, RB : A% 2ot #e 245 E37)7] RT : &2 i3]
<27 As FA RP1, RG1 : 2 T 2 2= +0fl0] OlO|S2 MIEt  RA RB: A ZY #E
[ e T
Uil i &8 J L 6
| @ —
| TRk
=
— =
»2rd B3 LR xlof rSet ¢E Agih
= 71X, AH7I SOIU= B30l Y YUS Floln, B39 M — HICH 22 ol ExIE FxlQ| 2SR7t Y S uf, 2 S,
HEO0| LMAS Mz LS UBS [AE £ A= X HIIES SToIHM HIZED S S5c 2|
o HHH| FH717| RS : ZFY o Wiy RP: FU 7o « FUHR| BF : BFAEIH (§%)
« LCDF#7|7] VRI : 22|z e
<MY J[A FH 717]  RA RB:AY ZQ -
@)
| 12 850
X222 0|25t 2ldf AFH S0O| Xtx| SXF HEA Xbx
e0e T3 0|2 At MH S A |, S2FHksS MX|
o 2 ot Xtx| old
eoe O|=7[E U A0 TX| L,
= o = =L AN P .
D2 o] AR BHAFS QI3 243t 224 A Z0l YAAMAALICE | http:/Awww.kecpr.com



‘ o BFAIZILIQL REGULATORS?| AR - E=2| of
® FUJIKURA BF AIZIEIO| JHQ « -+ -+ vereeeeen e iaeaaa s 5

® BF Series?| 8= - Aty - &4

- EAAM2IG TEIMOJE EARS oo 6-7
1 -FCARI= FCS IS &S / FCD 258 / S4g Male -+« -+ 8-21
‘_.1 - SCAl2|= SCS HHE &3 /SCOESH -« - - o v 22-31
- PCAIZ[= PCSHS U&3! / PCD =58 / MMARIA] - -+ - -+ - 32-40
. — SCDAIZIZ Supper ARIC| HEH (SR E XL Y - 41
C - TCA|I2|= TCEE QIES] « v v v v 42-43
= TD*'EIE TDESS - - ovee 44 - 45
e I ® REGULATOR
I — Regulator series®| At 8= Off - -----cvveeee e 46-47
= _;'E%,Ig:! 2ttt RS/RRABIE « v rrrr e 48 -51
- 2P AUH RS/RRARIZ(EREUSE) - 52-53
= _’:S’g'l,__! 2ttt RSB/RRBAIZIR »+ v v oo 54-55
— EXNQU Al ZIOHH RG1 NR-AO-M5 AJBIE « + v rrerrme 56
— IS Al ZIOHH  RP| NR-GO-T A[Z|R o v vrer e 57
— MO ZIZ ZIOHH  RYABIE s ccr e 58
= ig II_|.g_ ZIOHH RO AZIE - v 59-61
= IO-II:IEI ZtotH RP/RP2AIZIE “ v rrvrem e 62-63
= _Ahag ZtottH RA/RBAIBIE frrrrr e 64-65
= gnal Ix_-|_.g_ ﬁi}-j' RT/RT2 AZIR «ovor oo 66 —67
xt . —TAY HYF HIH YO ARIE et 68
’i‘ - 2lg|o wie WVRIARRIE f ¢ v rrrrroe s iniansesaneinesss 69
s — o7 G025, GOBO, G100 AlZIZ - v vee v e 70
- - SXF2t 37|12 71712l S - ARF-FHAO off - 71
N . . TS



>>> VARIATION

FCARIZ ©fS 953 / 253 - B2 AR

SC AIRIX ©IS U158 / 253 - SUPPER A2

PC AlZIX £ ¥E% / 253 - POCKET E& A2
TCMEIZ  EIS 9EE / 253 - uiy M2l

A S x20] (SEit

>»> BFe| 3522 EX
BF= 3=X2Z BF DIAPHRAGMS| 22! Af=0f 2laf| Ctet EAZ 7K J&LICH

1. 2Hst A BF DIAPHRAGMO]| Slet 37| &7t Z3| M.
=o| doJet U= Halo| = PIZokA BEZRILICY,
S|AHZIAA £410] 72| SiELCt,
0.1kg/orfe] M2 O|M| YHUME 2SS C
&ML BHe6HA st
72t BX| 20|= 2FEEA ZSeLCt,

2. 22w EE2 00 tiZol| 22 IXIE HX| BRI} YSLICH,
3. FFlofich LHES BF DIAPHRAGM E42 Yitdoz 1ol ofsl Foft i

7HX|2 UL,

>»> BFE2IHe|
BFARICIE 37| =52 ik A2 &4, 0/0j3t 2121 HS0) tf10f BRI 1SS 21 &)
20| B0f 0[ARILICY

jo

- XI5 MORIR] 2 o £ ChAEE9| 1T Actuator.
— 2%0i| 2ot @FS I

- dx HM S0| Aol
- UMt 222 H1 42 22 HY Actuator 5 (0| : Spot T7| &)
— 2128 Actuator

http://www kccpr.com



%S MUY (s 7zt 2 o
FCS-63-78-S1-NPM-KCC 2|10 Z=&IM0|E

=| 4l

o

=

W&

) _______________________________________________________________|

22y
x

FCS-80-87-S1-NPM-KCC 2|L|0of ZHIMD|E| 2id
FCS-80-108-S1-NPM-KCC 2|10 ==HIMO|E| it

| E& (2ILof ZRIMDO|E)

» Measuring range 30 - 1250 mm

» Long mechanical life 100 million cycles

« Excellent repeatability <0.01 mm
« Infinite resolution
+ 5 KOhm or 10 KOhm

pp X (BILO ZHIMO|E)

I Al (L0 ZRIMD|E)

Linearity + %0,05
Repeatability <0.01 mm
Resolution Infinite

Resistance 5 KOhm or 10 KOhm
Resistance tolerance + %20

Load resistance 100 KOhm min.
Recommended cursor current <1pA

Permissible applied voltage 28 VDC max.

Electrical connections

4 pin connector

Displacement speed

<5m/s

Mechanical life

100 million cycles

Case dimensions

33 mm x 33 mm

Case material

Anodized aluminium

Rod material Stainless steel
Rod diameter @6 mm
Mechanical fixing Variable brackets
IP degree IP 65

Operating temperature -20°C ... +80°C
Storage temperature -30°C ... +90°C

L=US+131

uUs +72

31—

— 26—~

°]

[o]
)
),

| I I -

15 -
17— ~15°
— 1 16—

—15°

-2 Connector type C1

u||—ﬂ@}£[@

o1
o 2 (vout)

iy

Model Measurement stroke (mm) (Usefull Stroke) (Mechanioal Stroke) (Total Lengih)
FCS-63-78-51-NPM-KCC 100 100 103 231
FCS-80-87-S1-NPM-KCC 100 100 103 231
FCS-80-108-S1-NPM-KCC 125 125 128 256

AHOIAA™S(F)

FUJIKURA PRECISION
PNEUMATICCONTROL PRODUCTS [IlI8)




»» FCS-40-8~140,204

TIEY AT

8-T £B5o[g
BFCH c M
HoJ E
HEFEETE\[ | o [ g
[F]f
m-ii N
il
QJP 3
B
B+C
N 2HZ
O FCSH 7|12 x|+E
2823 A B C¢c D E F G H 1 J K L M N O P Q@ R s
63 - 16 66 26
2 105 M12 M8 65
8 50 16 24 x 7 R4 12 - 63 ) 19 13 9 11 785 94
59 131 s 210[12 91
78 160 : 120
80 - 30 87 39
2 100 B 53 a0 m % 10 mws 4 - 80 M o 7 T 0w oo 1
87 173 X 20112 125
108 205 : 157
L& X2 Z-As23 AA AB AC AD AE AF
K @W{ LY X% e
42
2 5 g 50 6 95 3
78
80 -30
18- g§ 60 100 60 8 95 35
108
i g
[ [
i ml
[ )]
AG AF AF AG
AH Al
AJ

%11 12-L FOR Dc=112 ON BOTH SIDES
%2 6-AK FOR Dc =112 ON BOTH SIDES

M8 2730 235

c((— FUJIKURA COMPOSITES

47

M8 4540 392 784

AH
128
167
193
222
157
205
243
275

http://Mmww.kccpr.com

Al

23

309

AK
M8

20
M8
20



series

Seu o5 :) :I J3ANITAD 49

153
[

CAZ|ZE= BF AZIH9| 7|2 TypeCz AZIE A @10 ~ 200mm7IX| Zt ZREZ 2I50{M Uon, ZE Al0|=e}
A HE YSY ot S5H0| JUSBLICE (T AR Z @25mmo|y)
F= 7= L8, Front Flanged, Rear Flanged, Trunniond, Pivotdlo] QUELICE (T ARIH A @25mmolAl)

°
i}

I AFS
IE g4 oS U=, 259
Azih L mm 10 ~ 200mm
AEZT mm 6 ~ 320mm
AL 3 2= J7| (FEF)
ArS o= Y kof/orf 0.1 ~ 7.0kgf/crt
AR 2 HY T 0~ 60T
= 84 Dry Bearing
F5 Al 712, LY, Front Flanged, Rear Flanged, Trunniond, Pivotd

718 7l=2Y
L
Front Flanged
Rear Flange$!
Trunnion?
Pivot&

TN qg

AOAAIEB(F)  RETATESRL propucTs IS




P T U= FCS

Rl _ Al

x|

zo8 1

AMEIEH A @40mm0[4  m———————— (Q FUJIKURA COMPOSITES

=
CHE E
238 LAE BFCIOJORZEY  H2lH of2n|s 32 CHOAE
HUR ATHO| A | zc 2 BUF HYF-R T =
101 \ sxgy wog e o Y20l BEFE (FC16001Y)
2l |_|EE| N
n— \ ¥ f / 2! =g Jl5s
— 8 " | [ ? M} IAE vzl 32 52
ﬁ’/_‘ m S
¢ - \ . J A2ig), AHolM | UR0|E B2
N | ] - 2= AHORA Y BS (FCI600/4)
i - jinam BFClOjOIZ | = S0fZ LEZ 17
o Azg AT M
H|o{E =2{0] HiofE
XIX|cH A
{l - -~ J 1. Y20js BES Y20M|E
— 2. KIA7} gi= ZHEEL ofi=a
2|2/ S2AYEE 3, U20|5 CHOFHAE HES =&t
»» BF% FCD-40~100
® x5 Tz
BFCtO|OF 24 BFC}O|OFZ2H F ASSY Ig :g ] Zl
22 27 Mg #0f2! BUIF BY FR UZ0lE gf= COPHAE
BUR nAs | 2c Aol M | 24 eg LEZ 17
| ‘ [ L J—— OAE U205 82 T2
S w [ ] ] MG, AHOIN | U205 B2
\ v ‘ BFCIOjoZR F | X 07t LIEZ 12 2|H|ojH Z3l0IE
C ‘743 BFCiojot=3 R | X 507t LIEE 112
r By 7 i s HE Az
E— —— 2 AHQIHA %
LINES =2{0| HiofE
2cyl LEg 22
X|X|C] HZt
d R - - h [XIcH AL
U AV W T 1. d20ls BES A20j0|E Fa
i o \ ot o we 2. XA} gl ZHRES oz
s2us - 3, UAR0|E ClOFIAE BES =X
»» 2F% FCD-112~200
20| M BFCIO[OF2Y 2804 Z20|E Alalg BYF ZoH- =l
HUR 23 mAgE 87t ge 2c Hlof2! 2oy T T
otZ2pls st ClO|IFHAE
B4 F-R e = :LEXL' L A
A20|5 =52 (FC1600(4)
OAE UZR0E EFFE

M2, AHOIA
BFCtojot=z R

2|E|0|L{Z[0|1E
2c

LZ0H0|E Rz

http://mww kccpr.com

U=ols 313

E S0t Ueg 12
U205 35S
oY (#d 38 =3)
calo] Hof

LEY 18

oty

ge FRRES ollza
& COPIAE B2 £



FCAIB]X (= 7xet 2t ozl o1 xyz)

) XJC_)I_H XHJEI
@M— »» FCS-10-6~20-22 712 XA —_—
nAs 2c BFCIOIO}Z  AZal ol DAE EC | AHRA Y
24 Azl AET HE BFCto[ofz2d Z S0zt L EZ 12
. 7 25 s
H Y, Azl (R LI =2)
- \:??% = ( Azg  Amdg oM
: ] Woig  cafo] wofy
5 AED HE AL
K E Ae i f7 +Y BH (mm2)
B c Fo: 00I%ig mf AE2S Amal utad (\)
O FCSH 7|2 x2% Fi: MAEZ3F mjo| Amal st (N)
Z-Am=3 A B c D E F G H K L M Ae e .
10 - 6 18 35 18 10 16 M16 x 1.5 57 0.3 0.9
25 - 1 20 45 20 ° 12 M5x05] 32 20 M18 x 1.5 8 95 0.8 2
B -1 | 24 5 23 7 13 Rcl1/8 20 M22 x 1.5 165 15 29
16 58 25
0 - 8 ” M6 x 075 36 % 10
BT 28 7 26 8 16 30 M26 x 1.5 269 2 49
0 =282 M
@M— »» FCS-25-6~31.5-35 T
=0 U205 &=
lllﬁl% BFCtO|OtIed 20y 2y OAE a2p|E 52
=4 ] gad AelE BFClojot=Za | = S0zt LEZ 18
TN Z2C xrg. 2l SHEE A
T =] o oSO -
s Azg Ang UM
Vs Mo gsols a3
—&= - LYES E2{0] HlofE
2c AHIA 2
oo | ol °
- Ae R& 2 B (mm?)
c Fo 00|22 o AE23 Ama v (N)
F1 HAEZ3 o] AZZ Bt (N) N2H Z
. Amg v
BAsza A B c B+C D E F & Hoood K L M N e - 6
25 - 6 46 76 V6 Ma
16 38 63 30 93 8 12 36 Rci18 9 30 | 10 6 400 34 6.9
— P=0.75 20| 6
26 79 109
31.5- 14 61 97 M8 M5
24 45 78 36 14 10 16 p=i 5 Rc1/8 10 35 | #ol 13 8 660 49 1.8
35 97 133 75
25 - 6 46 84 96

A 6 63 101 113
Uit 28 m 26 79 117 | 129
IR P = 8 < ) 315-14 61 105 121

] 24 78 122 138
ﬁﬁ % | Q @ i @ 3B 97 141 157
T

— [a) 1 | (
T T < ‘ I
4 AA AB AC AD AE AF AG Al AK
| B AF |aG f AA
| AH Al 4-0AE / AB 25 25 38 25 4 6 19 6 11 M4x10
e 23

315 | 30 45 30 5 6 22 8 14 Mb5x12

/- FRONT FLANGE® XI3E | zss23 B BH
e % -6 46 52

16| 63 69

5 2 I SR 3N5-14 61 69
]
7@ o ‘ @ a2 4 BA BB

B BG BA 25 | 50 65 25 38 5 M6 6 24
e Bl 88 315 60 75 30 45 6 Mx8 8 28

H|OJA|A|Z(ZR)  FUIKURA PRECISION

PNEUMATICCONTROL PRODUCTS




<((; FUJIKURA COMPOSITES

»» FCS-25-6~31.5-35

2@_ I REAR FLANGEY f2E |

3d-2E23| B | BJ

4-9BE 25 -6 |46 | 82
16 63 99

26 | 79 115
31.5-14 61 105
24 | 78 122

35 | 97 | 141

BA BB BC BD BE BF BG

| 25 50 65 25 38 5 M4x6 6
BJ | BB 315 60 75 30 4 6 M5x8 8

BD

—=0]

oX

Z-AEE23 B CG CH

\‘—W 2% -6 46 12 42

| 1663 24 54

] %6 79 40 70

BN\ 315-14 | 61 24 60

A\ E@; [ @ 1 24 78 36 72

<§ 35 97 48 84
CA|(CB|CC|CD|CE|CF

caG CA 25 46 66 10 | 15 46 16
o | . 35 |54 78 12 16 53 17

$CCe9
$CD
$CE

oX

%@— - PIVOTY X3

BH

3-2E23 B  BH 3 DA DB DC DD DE DF DG DH

25 -6 46 101 25 2 25 8 8 0812 6 38 M4x12
16 63 118 315 |13 27 8 | 8 0812 7 48 M4x14
26 79 134 DE : BUSH SIZE
315-14 61 124
24 | 78 141
35 | 97 160

DAHHO| Hibe S 2%t FE 2 ASO| AYMAUSLIT. | http:/Avww kecpr.com 11



FCAIB]X (e 7xet 2t o o xpm)

[H— »»»FCD-25-6~31.5-35

T
o RS
o BFClOjO}m2Y S 3
ERE e Ee78 898) HL o2|s sk
mAE Az BUlF ] DAE U=0lE =
BUR N el el ZajolE f~Sm do  2EA BFClojot=d | T Sof7t LEZ 17
H P A= = M
‘ | / ] AlzIg UZ0lE s2
/ BEfZH0lE | YRl B3
Hlof2! E2}o] Hof
EI=gY LEY 12
1= AH[QIHA Z, AF
B C
B+C
Ae: 93 42 B ()
O FCDE 7|2 XI+H N:2d =
FPCEERIYN B € B+C D E F G H I J K LM N as T oes
25 -6 71 101 M6 w4
16 38 86 30 116 8 12 P=0.75 36 Rcl/8 9 9 30 2016 10 6 400 350
26 101 131 ’ =
31.5-14 85 121 M8 M5
24 45 101 36 137 10 16 P=1 5 Rc1/8 10 10 35 2075 13 8 660 580
35 118 154 o

SN Z-AE23 B AH AJ
25 -6 T 109 121

16/ 86 | 124 136
26 101 139 | 151

315-14 8 | 129 145
| @ 24 101 145 | 161
[ 3% 118 | 162 178

1

i

|
AC
o
>
@
8
~ 8
o &
>
m
° B
=
>
e

- %5 25 38 2 19 11 MAx10
5 |G = VR 35 30 45 30 5 6 2 8 14 MR
AH Al 4-dAE
AJ Bichel 23 AB
:% [~ FRONT FLANGEY X2E |
G-AERT B BH
4-9BF
= %5 -6 71 T
(841 25)
R9BE N\ 6 86 @
w 2% 101 107

25 \@ | B 5 s15-14 8 93

24/ 101 109
L ool 1 _ [
%:] ol & 3 118 126

L
*@ C @ \ @ <D 3 BA BB BC BD BE BF BG Bl
5 B A 25 | 50 65 25 38 5 Mixe 6 @ 24
BH Bl | BB 315 60 75 30 45 6 M5x8 = 8 28

SHOIAAIHRE) mparrecson o D)

T




»» FCD-25-6~31.5-35

I REAR FLANGEY X35

|

7ﬁ

BJ

- TRUNNIONY X35

— 2

=

$CCe9
$CD
$CE

- PIVOT% X35

3

25
315

MG LIE.

Z-2E23 B
25 -6 T
16 | 86
26 | 101
315-14 | 85
24 1101
35 118

BA

25 |50
31.5 | 60

o

Z-AE23 B
25 -6 7
16 | 86
26 | 101
315-14 | 85
24 | 101
35 118

CA

25 46
315 54

ox

13 27 8

BC

25
30

CH

56
63
68
80
96
103

cc

10
12

<((; FUJIKURA COMPOSITES

BF BG

M4x6 6
M5x8 8

CD | CE CF

16
17

DA DB DC DD DE DF DG DH
2 25 8

8 0812 6 38 M4x12
8 0812 7 48 M4x14

DE : BUSH SIZE

http://mwww _kccpr.com 13



FCAIB]X (e 7xet 2t o o xpm)

Fed— »pp FCS-40-8~140-204

8-T
]

PR

H E
HeFE7e\[| o0 [ o

—le
Jiisas
L

_ M
=y
ale
B
B+C
O FCSH 7|2 Rl+H
2 Az
gAses A B C D E F G H I J K L M N O P Q@ R S8 T A oo
40- 8 | 44 M10 14
Bl B o 2 20 x 6 Rs 9 - 42 Moo 10 Bog 7 55 6 M5 100 78 196
36 . 20019 57
48 105 : 75
50 - 16 57 o 25
Bl g o4 2 20 x 6 RiB 0 - 50 M7 10 %8 8 65 78 M6 70 147 204
50 ] 125 =
64 130 : 98
63- 16 66 i 26
o8 X 50 16 24 x 7 R4 2 - 63 o, 19 138 S 9 11 785 94 M8 2730 285 47
78 160 5 120
80-30 87 e 39
@200 588 20 32 x 10 R4 14 - 80 b 24 7 Sl 10 14 97 114 M8 4540 302 784
108 205 : 157
100- 46 118 64
86 178 M20 M1 24
e 120 3 66 25 40 x 12 R4 1 - 98 oo 30 22 e 116 175 136 MIO 7240 617 1274
s 15 g
144 268 : 21
-4 117 55
88 186 M2z M10 124
o 187 g T2 25 44 x 13 R8 18 - M2 g R 2 g 12 19 135 156 M2 8820 764 1588
e 15 &
156 290 : 228
125-52 132 58
102 207 M2 M10 133
e 150 76 30 48 x 14 R38 18 - 125 Lo 36 24 16 20 149 170 M4 11100 951 198
40 265 s 20l 191
178 322 : 249
140-62 154 74
122 244 M27 M12 164
o 165 55 84 35 52 x 16 R¥8 18 - 140 popg 41 30 5 16 24 164 190 Mi4 14100 1196 2548
162 15 2
204 370 : 290
o X|AT Zas23| AA AB AC AD | AE  AF [ AG AH Al AJ AK
L% X+E 94 114
. 0 118 3 M6
235 53 3 5 65 25 10 o1 12X
= ARE o
50 - 16 M6
Bla 63 4 6 75 26 1 2 19 K%
6 g2 20 I
63 - 16| 15 M8
#2 4-AK 7 42 67 195
) fl : ﬂ 50 8 50 6 85 3 M g 19 X
BHCHe 28 78 222 28?
-30 157 1
B ) ) ) ? ® g0 00 60 8 95 3 17 25 gz 29 %
87 - 243 277
il ol o el 275 309 20
i i g < - 46 198 238
+ 100" g 258 208 MO
! R 08 w0 0 55 FE ok
AG|_ AF AF _|AG 144 ;618 %8§ °
Al| | 4-PAE 2 _g 372 320 MI0
AH | ~wreyet > 8 137 80 8 14 4 2B S 2B g5 X
AJ zg 156 378 a4 2
e %5 o s MO
W % w0 g 0 W e 4 5D 30 Gl
%11 12-L FOR Do 112 ON BOTH SIDES 78 glg ﬁ‘gj °
i . 140 - 62 | 2 Mi2
%2 6-AK FOR Dc= 112 ON BOTH SIDES @100 165 | 95 10 16 46 24 ggg 38 ?ﬁg X
162
200 462 519 30

FUJIKURA PRECISION
5"||0|A|A|7é3'-3—(—?— PNEUMATICCONTROL PRODUCTS 1 4|




<((; FUJIKURA COMPOSITES

3-2E23 BA BB  BC BD BE BF BG BH Bl | BJ

»» FCS-40-8~140-204 4 -8 M6 53 9%

24 19
270 9 35 5 65 x 9 o 3B 1B

48 10 14 156

@Mé 50 - 16 = 67 i12
A

[ FRONT FLANGE® X5 | 0180 100 40 63 75 x 10 g B 1

1 4-GBF 64 10 140 185

EZ7YEE) 63 -16 M8 e 128
<“"BE 21105 130 55 82 95 X 12 5 38 o8
- T | 7 12 72 222
- 0 o @ & 80 -0 MB 100 168
v B 21120 150 70 100 95 x 13 jee 45 2%
i e e %*%8*** - 108 12 28 216
100 - 46 M10 132 197
3 U ) | a8 o 150 180 85 120 15 x4 2 51 5
CRE o e L e
BH BB - M10
‘ 8166 195 100 187 14 x 15 A 57 5
%1 : 4 1120|442 6-@BF 156 2 a05 ar
" Mo
1021180 210 15 150 14 x 16 5% 60
18 18 338 414
140 - 62 Mi2 173 257
A | 122 263 347
— [~ REAR FLANGEY X35 20105 25 125 165 16 x 19 X2 65
: 204 2 389 473

4-¢BE
ZAe=3  CA CB CC D CE CF CG CH
S gle | (] °d 5z
2160 2 14 18 60 18 S5
- —_dolg - I N 8 525 | 945
@ @ 50 - 16 285 | 735
4 36 435 | 885
- ‘ O i Bl 106 16 20 70 20 S5 8

) ' Bz
T 64 65 | 110
BA Eﬁj 63 - 16 33 | 8

BB BJ 2 525 1025
- - 59 94 184 20 25 8 B 55 155
r 78 80 | 130
%1 Z 1120|142 6-@BF 80 -30 435 1015
62 675 1255
14 164 | 25 | 30 108 | 30
87 865 1445
|—TRUNNION"<’5‘ X|E I 108 1025 1605
100 - 46 59 | 124
86 89 | 154
CF 5 1841194130 35 128 35 {5 5
| 144 134 199
W , 12 -4 585 1305
i ‘ —p 8 156 216 30 35 150 3B 516

19 | 191

. 122
3= 156 145 | 217
} R E@F 5 8 8I . 125 =22 1(??5 1%25
S ] 102 5 179,
10 170 234 32 38 164 38 1325 2085

N R M 178 161 | 237
- = e 140 - 62 LT
! 122
w o 2 190 260 35 42 184 42 12 26
204 185 | 269
CA
CH
F CB 1
ZAE=a| DA DB DC DD DE DF DG DH DI
- PIVOT% #I4E : 0 -2 e
15 30 10 14 1015 8 55 X
% 19 18
48
X115 33 10 14 105 9 55 10 X
DB 64 208 18
N " 63 -1 }54 V8
i - 3 2120 38 12 15 1220 10 75 o 3
78 248
80 -30 189 M8
3) T — T rC - 2120 4 15 165150 12 75 ¢ x
108 a2
. - I 100 - 46 233
I uj M10
%25 50 18 18 1825 15 95 S0 x
DG| [DF|_ 144 383 30
DH 12 - 42 A3 o
B8 54 18 20 T ow 95 I %
156 a6 0
125 -5 2010 26; M10
%1 : 7 1120142 6-gDI 02130 59 20 238 PP 7 95 25 x
178 s57 30
- 20 3 M2
122
2134 64 2 25 Z0 19 A
204 51
DE : BUSH SIZE

A& LICH | http:/AMww.kccpr.com 15



- »»»FCD-40-8~140-204

EHo3 .
! H H J
AR HHIJ%.*%?%\L‘* 20
i - ] | eo
(] — [l
| i)
PJQ o a|prlls
B
B+C
Ae 1 RE Y HA (mm?)
O FCDE 7|2 i4& N: 2% =
4€22 A B C D E F G H I 4 K L M N O P Q@ R S T az"®ics
40- 8 54 24
253 B 2 20 o 6 R/8 9 9 4 Mg o 48 g 7 55 6 | M5 1100 980
36 97 e ¢ zolg 67 '
48 116 : 86
50- 16 67 35
Bl w T s o w6 Re/8 10 10 50 M7 0o 6 g g 65 7 Me 1770 1650
50 119 5 Zol9 87 :
64 141 : 109
63- 16 79 39
2 g (8 g e N Red 12 12 63 M q9 13 B 9 41 85 w M8 2730 | 2530
59 145 s ¢ Zlof12 105 '
78 175 : 135
80-30 100 e 52
82 00 M8 55 50 3 0 R4 4 14 80 M os yp 190 444 97 14 M8 4540 4230
a g7 0 s ¢ Z0f12 7139 /
108 220 : 72
100 - 46 132 78
8 o 12 25 a0 v 2 R4 4 14 98 MO g 2 B8y 46 45 136 MO 7240 6750
115 239 1X5 ¢ Zoft5 185 -
144 284 : 230
" _% 12?)? M22 M10 174%
o W S 2 B x 13 R38 18 1B M2 o @ 2 qgg 12 19 135 156 M2 880 | 8330
156 313 : 251
125-52 153 vod 8
}% 150 gg? 76 3 48 x | 14 Rc3¥8 18 18 125 ,ﬁ.’gﬁs % 2 12‘?2 6 20 149 170 M4 11100 10400
78 346 15 214
140- 62 173 %
2 s B g g 2 Mx27 6 RaB 18 18 1o M2 05 24 e 100 00 | 13300
@ 5 go 8 B 2 X 16 R B B MO gopg 4 e 1 4 64 190 M4 141 1
204 392 : 31

3As=3 A\ AB AC AD | AE AF (AG AH Al AJ AK

LY X35 4 -8 104 2 g

235 53 35 5 65 5 10 qg 17 qo x

5 AR A

50 - 16 M6

B4 63 4 6 75 26 1 o190 X

5 ARl I

63 - 16 1 189 g

aK #2150 82 50 6 95 31 14 X 19 28 X

- T 0 —a

o ' : 5 =

vichel g 80 -3 218 252 | M8

) O g 60 100 60 8 95 3 7 g B Gy X
108 290 324

; v g o [ TR 100 - 46 5o e o MO

0 Y L g 75 120 70 8 12 40 20 55 B oo x

o | T, 4 5 8.

AG|,_AF AF _|AG AA 112 - 42 72 \i1o

p oA Be5 137 80 8 14 4 23 o8 M

AH AL AB 5 401 a7 %5

AJ YR 2 s 125 - 52 245 293 1o

12 95 150 &7 10 4 46 24 3030 B %

% 117 1120142 12-L (iched 22) 178 438 186 %

% 21 4 1120|442 6-AK (BITH 23) 140 - 62 = 13 M2

121100 15 95 10 16 46 24 5 38 9B x

204 484 532 | %0

HO|AIA|HZ(F)  FUKURA PRECISION

o\T PNEUMATICCONTROL PRODUCTS




<((; FUJIKURA COMPOSITES

#-As23  BA BB | BC | BD BE  BF | BG BH Bl B
»» FCD-40-8~140-204 o o E
%70 % B 565 x 9 5 B g
8 125 167
50 - 16 77 122
- FRONT FLANGEY A= | $180 100 40 63 75 % 10 o 3 1=
51 4-pBF 64 10 151 196
[CEI=ETETS) 63 - 16 M8 91 141
4-$BE 42 130 179
B 105 10 55 & 95 x 1 i B 5
— = % i - 78 187 237
4 - ) N 80 -30 M8 13 171
- @5@@ & 8 120 150 70 100 95 x 13 20 45 A
I N A _olojt _ _ 14
% o|d 108 233 291
100 - 46 M10 146 21
f 3 . & ! & ¢ Bi50 180 85 120 15 x | 14 5% 51 2%
I T 16
i o o A
BH BB B M10
! 28166 195 100 187 14 x 15 22 57 5
%1: 7 1120142 6-0BF 156 16 8 400
125 - 52 M10 ;69 §‘215
102 44 0
M 180 200 15 10 1 x' 6 g 60 Ty
178 362 438
140 - 62 Mi2 192 276
— |-REAR FLANGE® k|25 | 20195 25 15 165 16 x 19 22 65 S0
204 20 At 495
1 4-¢BF
@47% 25)
4-9¢BE
F2E=3 CA  CB_ CC CD CE CF CG CH
R | I o 5
1T7F (9 24
L2 > 2164 92 14 18 60 18 5 o5
= -— g ] a8 58 100
>/ 50 - 16 335 | 785
E 2 36 485 | 935
o B8 ) " 4 B4 106 16 20 70 20 B2 B85
! BQ 64 705 | 1155
BA -sd 63 - 16 395 | 895
BB BJ 42 59 | 109
‘ ! 2194 138 20 5 88 25 o pos
11 4 1120/A2 6-@BF 78 875 1375
80 -30 50 | 108
62 74 132
4 164 25 30 108 30
87 935 1515
|— TRUNNION% *|3-& I 108 10 168
100 - 46 66 | 13t
86 9% 161
%134 104 30 35 128 35 ek
-CF 144 142 | 207
\‘ 112 - 42 69 | 1
88 1035 | 175.5
i [ — 31156 26 30 35 150 35 1985 TS
| =] 156 156.5 | 2285
of & 125 - 52 765 | 1525
I R I [ I B B QTO
O O 102 114 | 190
@ 8 e 02170 234 32 38 164 3B e ok
! 178 173 | 249
f [ — 140 - 62 865 1705
— 122 1315 | 2155
i 2 190 260 35 42 184 42 '35 2
! CG 204 196 | 280
CH
Z2E=3 DA DB DC DD DE DF DG DH DI
| FPIVOTY ARE | o | MO
30 10 14 1015 8 55 o x
188 18
145 M6
3 10 14 1005 9 55 o X
29 18
167
M8
| B/ 12 15 120 10 75 5% X
i - 2
Ri 263
202 M8
B T 44 15 165 1520 12 75 S0 x
2
322
] 247
- ; M0
d 50 18 18 1825 15 95 a0 x
a9 30
- 264
MI0
54 18 20 810 16 o5 3B 7
271 386 30
439
288
M0
59 20 238 P 1 95 3P x
*1: 4 1120142 6-@DI s81 30
321
M2
2210 a1l
o0 2 25 TP oo x
570
DE : BUSH SIZE

http://Mmww.kccpr.com

17



FCAIB]X (e 7xet 2t o o xpm)

#l- PP FCS-160-82~200-320

DA
$2D

|

i

|

|

|

|

I

T

|

|

I

z

|la B
& 5
SR 0 Bl Ae 92 48 BX ()
FO 00[%iS mj AEZ3 12 (N)
B+C FI & AE23 mjo| Azl (N)
N 2HZE
O FCSE 7|2 xI+E
Az
a€23 A B Cc D E F G H I J K L M N O P Q R S T p
160- 82 84 86
1821 qe5 24 g4 35 60 v 8 Ret2 2 - 160 M2 us 30 0 o3 o5 185 | 215  Mi6 18600 1588 | 3567
192 351 1X5 Zols 253 : :
240 425 - 307
180 - 96 213 a3 101
188 205 2 qos4 a0 ea  x 20 Rt 2 - w6 M50 3 209 o5 30 205 238 Mg 23800 2058 490
26 410 X 2021 298 :
280 493 : 381
200- 112 244 118
2 e 30 0 s O o reae 2 - e MB s 28 0 g o g w0 20600 2548 6566
256 462 i Zop4 3% 8 | 656
320 560 - 434
N @W LY XRE Z-AE23 AA AB AC AD AE AF AG AH Al AJ AK
160 - 82 2 34
142 372 424
C415 185 105 13 18 49 26 o 19 o X
. =i = = 192 449 501
8-AK ] B e amil 2130
(82 8E) 240 523 575
HoE Es [ A I O _ 180 - 96 317 373 Vi
168 425 481
——130 1205 115 14 18 |52 28 — 24 —— - X
£ - B ‘ 226 514 570 56
* : : 280 597 653
AG| AF AF |AG ‘ AA ‘ 200- 112 348 404 vie
AH Al 4-pAE 100 | 100 | zaa |
AB 192 468 524
yefed gl A8 D240 225 125 14 18 52 28 X 409 O
A 256 566 62 o

320 664 720
@% - FRONT FLANGE® X2E |

3-2E23 BA BB BC BD BE BF BG BH B
160 - 82 o293
12 00 260 140 185 16 x 19 22 75
192 RED
240 444
180 - 96 AR
168 343
225/ 250 300 160 205 18 i 2 o 82
280 515
200- 112 PRIE
192 389
256 25 320 180 225 18 i % e %
320 585

HOIAABRE) Fukraerecsion o BEFEY




<((; FUJIKURA COMPOSITES

»» FCS-160-82~200-320

2@— I REAR FLANGE% X3E |

6-PBE

3d-AE23 BA BB BC BD BE BF BG BJ

@ . @ 160 - 82 Vit 297
142 387

o I T O N 7%7 19 220 260 140 185 16 2% 19 464
240 538

& - o 180 - 96 339

BG 168 250 300 160 205 18 M>24 22 a4
- BJ | 226 o5 536
280 619

200- 112 Vi 389

192 509

256 275 320 180 225 18 3);) 25 607

320 705

- TRUNNIONY X|2&
Z-AE23 | CA CB CC CD CE CF CG | CH
160 - 82 ® 18
o 142 197 | 281
— } 1o 215 295 40 60 205 60 oo
— =] [ —TThH ﬁ@ = 240 2125 3065
A - ! 180 - 96 1065 2105
al ©

] Di,,/ @3} w 8 8L7 @ L 168 1605 2645
3|0 pog 235 325 45 63 225 63 0
- @@ | & 280 2465/3505

il
‘ . ‘ 200- 112 2 %
ce 192 82 302

CA
N | o g 260 350 45 65 250 65 .
‘ 320 280 400

- PIVOT% X3
DB
Z-AE23 DA DB DC DD DE DF DG DH DH
S = e e—— 160 - 82 348
44 B 142 2510 438 M12
38 70 25 28 o1 11 X
o) - U %} 192 2 515 40
240 589
\gﬂgf — 5 180 - 96 o
/ 168 2812 502
b o 12 T 28 32 0 2 125 x
DH | 280 674
200~ 112 ZI
19 3012 569
2
2 15 8 0 345026 14 o X
320 765
DE : BUSH SIZE

DA o| WA BN QI S48 SRM ABO FMABUICH | htp/mwkeaprcom | 1g



FCAIB]X (e 7xet 2t o o xpm)

#+Ad—  »»» FCD-160-82~200-320

®R
E59F c 2T 91|
| H H
f AT 2 AHAH
mﬁu‘uﬁo EE :.T?o F* oo &
JI@ - @ ¢D G AFF
Q|- 1 4+ | | 1 ]2
S o 1Y
- ¥ N
]rﬂ P
(H =
3| P|Q] o Q|P||3
B |
- B+C o
Ae: R8 Y A ()
O FCD¥ 7|2 xI+8 N:28 =
#-AE23 A B | C D E F G H I J K L M N O P Q@ R S T #EE;%,H
160 - 82 230 132
142 320 M30 M2 202
190 185 399 94 | 35 60 {(5 18 Rc1/2) 22 | 22 | 160 z0/18 46 | 30 301 23 26 | 185 215  Mi6 18600 17600
240 475 377
180 - 96 260 148
168 368 M33 M14 256
26 205 459 104 40 64 {(5 20 Rct/2| 22 22 176 200[21 50 36 37 26 30 205 238 M18 2380022500
280 544 432
200 - 112 292 166
192 412 M36 M16 286
256 225 5 120 45 72 {(5 21 Rc3/4| 24 | 24 | 194 210124 55 41 385 28 | 35 225 262 M20 2960028000
320 612 486
#-AE23 AA AB AC AD AE AF AG AH Al Al AK
LY X2E
160 - 82 28 %0
142 418 470
E115 185 105 13 18 49 26 197 45 549 3)2)
8-AK @ @ 240 573 625
180 - 96 4 40
T Rl o o 168 472 528
%6 130 205 115 14 18 52 28 63 52 619 %
H R aaon| Py =Aa |
] 1= 280 648 704
o 200- 112 396 452 M6
AG| AF AF 400! "F1p | 7y
192 516 572
AH Al — (Y- (M=
~ @140 225125 14 18 | 52 28 616 68 672 ;5
320 716 772

Z-AE23 BA BB BC BD BE BF BG BH Bl
160 - 82 o (2%

142 000 260 140 185 16 x 19 o0 75
192 20 418
240 494
180 - 96 a2
168 390

225 250 300 160 205 18 i 2 o 82
280 566
200- 112 PARE
192 437

. 256 275 320,180 225 18 i 2% %
320 637

AOIAAEE(F)  ERERATRESRIR. propucTs

T




<((; FUJIKURA COMPOSITES

»» FCD-160-82~200-320

é@— - REAR FLANGE® fRE |

6-$BF 3d-2E23 BA BB BC BD BE BF BG BJ

SATES \ e-oBt 160 - 82 ,
‘ 142 Mi2 433

20 260 140 185 16 x 19
g : 2 192 o st

240 588

At — @@ 180 - 96 AR

o : h 18 050 300 160 205 18 x 22 2

H = 226 o5 585

gl 280 670

55 B | 200~ 112 437
192 575 320 180 225 18 Mx16 25 2

256 o 2 e

320 757

- TRUNNIONY X3
#Z-AE23 CA CB CC CD CE CF CG CH
160 - 82 5 209
142 160 254
CF
e | jgp 215 295 40 60 205 60 oo oo
T [ ‘ 240 2375 3315
/‘ B __ @e | & 180 - 96 180 | 234
/AN w83 |l . 7,,% 168 184 288
€> E@ o8 @ 205 %0 3 4 63 25 63 s s
 ——1———h @= | = 280 3
] 200- 112 146 | 266
CE
ca 192 206 3%
. oA gmg 200 360 45 65 250 65 o
cB ! 320 306 | 426

Z-A23 DA DB DC DD DE DF DG DH DH
160 - 82 TN
142 2510 484

g B 7025 B 020 1 4Xo
240 639
180 - 96 41

188 o 77 o8 32 B2 5y 105 ¥ Mxm

226 4 7640 e
280 725
200- 112 497

192 45 85 30 34 02 5 14 O7 e

256 oH e 5Xo
320 817

DE : BUSH SIZE

DHO| A BHALS 93t 243t 22M MO YRMASLICE | hto/mwwkeprcom | 1



series

:)S d3ANITAD 49

wn
(D
—
(D
wn

| Ex
- O
e SCAl2|Z= LINER = HIHEZ fE3IR2H FC Al2[=et SYst 37| 2 7HX|1 /el BF DIAPHRAGME]
EZZ z[ofsh A7 At
1. 2 HS0| CHet M0 Fo{HLct
2. O|Migt YoMz 2SSt
3. 712 ot&0| ZE! 42 Ozl HEsty |7t ofE@SLct
| 8%
o LIS Z2 ME et Actuator2A Z[HQLICE
1. Moz Fekst HoHE & 29 2. AR 25 718 71719 & o= Mo
3. Qlafj7| I S2HAE! A MH|Q| AEiK|0f 4. b7, AlR719] &Y Ko
I Ak
s oS UEY =258
#2IH W38 mm 40 ~ 200mm
AEEI mm 48 ~ 320mm
AR S U= 37| (F=R)
ALE o3 He|  kof/on 0.1 ~ 7.0kgf/ort
AR 2 HY T 0~ 60T
=5 84 Linear BaII Bearing (Non-Sealed/sealed)
F 5 4y 7128, L&, Front Flanged, Rear Flange®, Trunniond, Pivotd
X B ol 2Tl FY TH5A0| US Z0ls U0 S SAGH %S FIBLICL B, Aol XIS TfBl0] FUAIR.

SCS(D) - 40 - 48 - SO - BO - P

; ET— o T=x .
[’5.% 2 220 Wa AERT [ 2 Eaale T8 4
SCs H=U=d 27|15 Ang
SCh_=58 SO Amzgls
St BE AR FE

Linear ball Bearing, Seal g/ BO

Linear ball Bearing, 2% Seal 22t B1 2715 7|28 L L3
F Front Flange® R Rear Flange®
T Trunnion? P Pivotd

FUJIKURA PRECISION
HIOIAAESZ()  EREUMATICCONTROL PrRODUCTS [




1 c(_(—, FUJIKURA COMPOSITES

UR0|F &g HOIHAE

EXFR | gzns si2xs (FC60014)
oy L2 1=
IAE d=njs 512 £2
Maly Amold | 2=0js @2
2c A= (2232 £3)

BFClojot=d | = S0zt UEZ 17

e } Amg Amlg UM
jofz! 2|Ljof & Hlof

d

FHU=UEY | 27 Y (SKS)

0

X[x]cH Hz

=

 220ls BES A=0jo|= XY

2. A7t Sl BHIRES old=S
ElE] |77y 2 3. YR0|F COHAE 252 =8

eI Y TYsle pE Y IR T R R

oy oy wipR | SrUE B3 Hobes
Aleig Hjlof HUF =7l geT= (FC1600|g)
= 2Cc Al 2E°J LlEEEI _'I_:I
| ‘ . IAE 2205 33 58
T 17 i =g Mz, Aol | 2=0js @2
A= | ‘ 2 oY (91 32 £3)
= 2ELf Z2|0]
BFHONIZEF | 5 Sopt ez 2e
_ N o BFCIO[OtZHR | I SO0{7t LIEE 17
BE *EI LlE = 17
HIoZ 2|Lo= HoiE
i FUU=BEY BT Y (SKS)
- - 1 XIX|cH e
A L

. Y205 B2 Y=0lE Az
KA g ZHEES ofeiz
3. U205 COPIAE 2B 3

0
N
2
It
Im
O =

A| A

ALY S QT 24T £ M HS0f| AEMASLICE | http:/Avww kecpr.com 23



SCAZIX s 7xer 2% 8 2 1)

# pp SCS-40-48~140-204

8T EERR e 2
e c M e 2a7 o
8L I H HoJ . E B 21| ; e
Wiz 28 WSS wnn%ma%\ﬁ g0 [ g —r e
S fl - i 4D ‘7 2NN & @
I L - #
£k ggr . . o W &
W i - m N
a [ B |
A 3 PJQ 0 QJP 3
] 3 112014
B+C Ae f& 2 BHH (mm2)
FO 00[%g M AEZF B (N)
FI M AE23 1fo] ATgE (N)
0 SCSd 7|2 X+ N 2H =
ZAszs A B C D E F G| H | 1 | J [k L M N 0O P Q R S T p 2
40-48 53 105 42 10 20 M8x1 6 Rcl/8 9 - 42 MeZ0|9 177 8 75 8 7 515 61 M5 1100 78 196
50-64 63 130 45 12 20 M10x125 6 Rcl/8 10 - 50 M6Z0l9 17 10 98 8 8 615 73 M6 1770 147 294
63-78 8 160 50 16 24 M12x15 7 Rcl/4 12 - 63 MBZO[©2 19 13 120 9 11 785 94 M8 2730 235 47
80-108/ 100 205 58 20 32 M16x15 10 Rcl/4 14 - 80 M8Zol12 24 17 157 10 14 97 14 M8 4540 392 784
100-144| 120 268 65 25 40 M20x15 12 Rcl/4 14 = — 98 MIOZOI1530 22 214 11 16 1175 136 M0 7240 617 1274
12-156 137 290 72 25 44 M2x15 13 Re3/8 18 - 112 MOZO[15 32 22 228 12 19 135 156 M2 8820 764 1588
125-178| 150 32 76 30 48 M24x15 14 Rc3/8 18 - 125MIOZ0[15 36 24 249 16 20 149 170 M4 11100 951 198
140-204 165 370 84 35 52 M27x15 16 Rc3/8 18 - 140 Mi2Z0[18 41 30 200 16 24 164 190 Mi4 14100 1196 2548
ﬂé@g FLEXRE |
oo 3aE=3 AA AB AC AD AE AF AG AH Al AJ  AK
e 40-48 35 53 35 5 65 25 10 155 17 175 MBx 14
1{%5)\ JJ[ - ﬂ % 50-64 40 63 40 6 75 26 11 182 19 204 M6 x 14
HITHe! 22 63-78 50 8 50 6 95 31 14 222 19 250 M8 x20
f@N 80-108/ 60 100 60 8 95 35 17 275 23 309 M8x20
\ N~
| L+ o o | VTR 100-144 75 120 70 8 12 40 20 348 25 388 Mi0x 25
N < <
y L L % 112-156 85 137 80 8 14 44 23 378 28 424 MIOx 25
} ‘ 125-178/ 95 150 87 10 14 46 24 415 30 463 MI0x 25
AGl_AF AF_|AG / L AA 140204 100 165 95 10 16 46 24 462 38 510 Mi2 x 30
AH Al 4-4AE, AB
N vihel g
% - FRONT FLANGE® X3E |
*14-¢BF
27k EHEE
4-¢BE (7:'1 =) Z-AE23 BA BB BC BD BE BF BG BH Bl
i : ~ - 40-48/70 90 35 53 65 M6x10 9 114 33
[@ IF S @ lw ¢ 50- 64/ 80 100 40 63 75 MBx10 10 140 35
N . alg ((} 63- 78105 130 55 82 95 M8x14 12 172 38
L @g@i\% p @\J@} s 80-108 120 150 70 100 95 MBx14 13 218 45
| (& B N y 100-144 150 180 85 120 11.5 M0 x 16 14 282 51
‘ Bs. @ BA 112-156 166 195 100 137 14 Mi0x16 15 305 57
‘ BH BB 125-178 180 210 115 150 14 MiOx16 16 338 60
% 1.2 1120|442 6-#BF 140-204 195 225 125 165 16 M2x20 19 389 65

HO|AJA|ZZ(Z)  FUIKURA PRECISION

PNEUMATIC CONTROL PRODUCTS




»» SCS-40-48~140-204

2@_

- REAR FLANGEY X2

BB

(> Ble ¥ [ 1 o7
bere | \ &

BJ

@7 - TRUNNIONY XI3E

o

=h

CE

)
%)

=]

%— - PIVOT% X3E

DA

% 1.3 1120|142 6-¢BF

o

cD
¢

‘F%

F?‘

®
9

)
N

@
-

BN
T njg
2 m

oj

DH

1.4 1120142 6-¢DI

#-AE23
40 - 48
50 - 64
63- 78
80 -108
100-144
112 -156
125 -178
140 -204

BA

70
80
105
120
150
166
180
195

Z-AE=23
40 - 48
50 - 64
63- 78
80 -108

100-144

12 -156

125-178
140 -204

#-Agz3
40 - 48
50 - 64
63- 78
80 -108
100-144
112 -156
125 -178
140 -204

DA

15
20
20
25
28
30
34

30
33
38

50
54
59
64

BB

90
100
130
150
180
195
210
225

CA

64
74
94
14
134
156
170
190

DC

10
10

BC BD

35 53
40 | 63
55 82
70 1100
85 1120
100 | 137
115 150
125 | 165

BE

<((; FUJIKURA COMPOSITES

BF BG BJ

65 M6x10 9 156
75 M6x10 10 185
95 M8x14 12 222
95 M8x14 13 276
1.5 M0 x16 14 | 347
14 M0 x 16/ 15 377
14 M0 x16 16 414
16 MI2x20 19 473

CB CC CD
92 | 14 18

106 16 2
134120 2
164125 3
194130 3
2161 30 3
2341 32 3

0
5
0

CE CF CG CH

60 | 18 525 945
70 | 20 65 110
88 2580 130
108 | 30 10251605

5 128 35 134199
5 1560 35 145 217

3

164 38 | 161 237

260 35 | 42 184 42 185|269

DD DE
14 1015
14 1015
15 1220

15 16.5 1520

18
18
20

18 1825

20 | 1810 2
23 2010 2
25 1 2210 2

15
16
17
19

DG DH DI

55 177 M6 x 16
55 208 M6x18
75 248 M8 x 22
75 307 M8x25
9.5 383 Mi0x 25
9.5 416 M0 x 30
9.5 457 M0 x 30
11 518 M2x 35

DE : BUSH SIZE

http://Mmwww.kccpr.com 25



Fw— PPP SCD-40-48~140-204

PR EEEREE
IR

c B B4 o
H Ll . E U A3 \ I ESTEI=
E a%;@\L p20 [ & T
- 5 Lol [] G
i & &
= o -
- 0 N
2 B | €
0A 3 Plo o olp 3
A 112004
B
B+C
Ae i RE 2 HH (mme)
@ SCD 7|2 X1 N:om =
32823 A B C D E F G H I J K L M N 0 P Q@ R 8 T ol
40 - 48 53 | 116 42 10 20 M8x1 |6 Rcl/8 9 9 42 M6#09 17 8 86 8 7 515 61 M5 1100 1020
50 - 64 63 141 45 12 20M10x125 6 Rci/8 10 10 50 M6ZH0|9 17| 10 109 8 8 615 73 M6 1770 1650
63 - 78 82 175 50 16 24 M12x15 7 Rcl/4 12 12 63 M8HO[12/19] 13 135 9 11 1785 94 M8 2730 2530

80 -108 | 100 220 58 20 32 M16x15 10 Rct/4 14 14 80 M8Z0[12 24 17 172 10 14 97 114 M8 4540 4230

o

100 -144 | 120 284 65 25 40 M20x15 12 Rcl/4 14 14 98 M10Z0[1530 22 230 1 16 1175 136 M0 7240 6750

112 -156 187 33 72 25 44 M22x15/13 Re3/8 18 18 112M10%0[1532 22 251 12 19 135 156 MI12 8820 8330

125 -178 | 150 346 76 @ 30 48 M24x15 14 Rc3/8 18 18 125M10%0[1536 24 274 16 20 149 170 Mi14 11100 10400

140 -204 | 165 392 84 35 52 M27x15 16 Rc3/8 18 18 140M1270[18 41 30 312 16 24 164 190 M4 [14100 13300

@VAVAVA{ FLg xRE |

ey zAE23 AA AB AC AD AE AF AG AH Al Al AK
e 40-48/35 53 35 5 65 25 10 166 17 186 M6 x 14
@t s f ﬂ 50-64/40 63 40 6 75 26 11 193 19 215 M6 x 14
H_rnnae%\ A 63-78 50 82 50 6 95 31 14 237 19 265 M8x 20
\ Y 80-108 60 100 60 8 95 35 17 290 23 324 M8x20
. L+ oo @@ 100-144| 75 120 70 8 12 40 20 364 25 404 MI0x 25
u . i 1 % 12-156 85 137 80 8 14 44 23 401 28 447 MIOx 25
125-178 95 150 87 10 14 46 24 438 30 486 M0 x25
G| AF AF_|AG AA 140 -204/100 165 95 10 | 16 46 24 484 38 532 Mi2 x 30
AH Al| | 4-2AE AB
B 2
AJ
% 1.2 1120148 12-L (Bt 28)
* 2. 1120|142 6-AK (CHEH 2+3)
% - FRONT FLANGE® X2E |
*14-¢BF

4-$BE EH 729 #As=3 BA BB BC BD BE BF BG BH B
; 3 T - ~ 40-48 70 90 35 53 65 M6x10 9 125 33
|$%/\ [ P ®/\@ < 50-64 80 100 40 63 75 M6x10 10 151 35
NP - = alg g)) 63-78/105 130 55 82 95 M8x14 12 187 38
'%% ] I BTE o 80-108 120 150 70 100 95 M8x14 13 233 45
%) s . J‘ [N J 100-144 150 180 85 120 115 MiOx 16 14 298 51
‘ BG_ Bl BA 12156 166 195 100 137 14 MIOx16 15 328 57
‘ EH | BB 125-178/180 | 210 115 150 14 Mi0x16 16 362| 60
% 1. 1120142 60 BF 140 -204 195 225 125 165 16 M2x20 19 411 65

HOIA|A|HR(Z)  FHIKURA PRECISION

PNEUMATICCONTROL PRODUCTS




<((; FUJIKURA COMPOSITES

»» SCD-40-48~140-204

2@— - REAR FLANGEY X2E |

é;ggsga z-AE23 BA BB BC BD BE BF | BG B
IBE 40-48/70 90 35 53 65 MEx10 9 167
(& @ a ol . Ik o & 50-64 80 100 40 63 75 MBx10 10 196
an ﬂo [N 63-78 105 130 55 82 95 M8xi4 12 237
\ [/ o) — & 80-108/120 150 70 100 95 M8x14 13 291
< BT & 6y f : ﬂ‘ & %Q}J 100144/ 150 180 85 120 115 Mi0x 16 14 363
v kg 112-156| 166 195 100 137 14 Mi0x 16 15 400
o o 125-178 180 210 115 150 14 MO x16 16 438

1

140 -204/195 225 125 165 16 M12x 20 19 495

% 1.8 1120|142 6-@BF

@7 - TRUNNIONY X3

CF
‘ 3223 CA CB CC CD CE CF CG CH

E - TL 40-48 64 92 14 18 60 18 58 100
g 50-64 74 106 16 20 70 20 705 1155

fan = ow g8 S,
%) S SJQL 63-78 94 134 20 25 83 25 8751375

| : ﬂ ) 80-108 114 164 25 30 108 30 10 168
u 2 100-144 134 194 30 35 128 35 142 207

112-156 156 216 30 35 150 35 15652285
125-178 170 234 32 38 164 38 173 249
140 -204/190 260 35 | 42 184 42 196 280

CG

g 22 ?Q/@f%?
£ %
i

%@— = PIVOTY X145

¥d-2E23 DA DB DC DD DE |DF DG DH DI

40-48/15 30 10 14 | 1015 8 55 188 M6x 16
50-64 15 33 10 14 1015 9 55 219 M6x18

63-78 20 38 12 15 1220 10 7.5 263 M8x 22
i) 80-108 20 44 15 165 1520 |12 7.5 322 M8x 25

5
N/

=
;

E1E)
=

]
'

e @L& 100-144 25 50 18 18 1825 15 95 399 M0 x 25
Azmy 33 2y - o 112-156| 28 54 18 20 1810 274 16 95 439 M0 x 30
‘ 125-178 30 59 20 23 2010 274 17 95 481 Mi0 x 30

* 1.9 1120182 6-0DI 140204 34 64 22 25 220024 19 11 570 M2 x 35

DE : BUSH SIZE

DA HO| Bk S 2t FS 2 ASO| AYMASLITE | http:/Avww kecpr.com 27



SCAZX (= 2z

@M—

7k
2

H x| O
_I_D:lel

oo X

MHE)

»» SCS-160-82~200-320

8T ¢R c
WOET 28 )
12-L 1 H Hi2 213
= ESTETE) ‘ Hizt g 7Y
I
@)% | 28 5 -
é 2K A %_ =) -
4’5 j\f 8 M —
g | & 5| - 5! N
B £ 3,
DA RS > s Ae 5 491 9% ()
FO 00/%4S 0 AE23 B (N)
B+C FI ™ AE23 mjo] Anal8i (N)
05CSH 7l 3B N 2EE
zas22 A B C D U E F G H | J K L M N O P Q@ R S8 T U V p 2=
160-82 184 86 52 124
w2 o M30 M2 176 - -
o185 9 35 70 60 x 18 Rl2 22 - 160 %ol 46 30 23 26 185 215 M16 8600 158.8 3567
192 351 15 8 253 - -
240 425 327 - -
180- 96 227 115 60 119
168 321 M33 Mia 209 - -
o 205 104 40 80 64 x 20 Rel2 2 - 176 ol 50 36 26 30 205 238 Mi8 23800 2058 490
26 < 410 15 > 298 - |-
280 493 38 - -
200-112 244 118 60 119
192 364 M36 M16 238 e
2 205 20 40 90 72 x 21 R34 24 - 194 Zo| 55 36 28 35 225 262 M20 29600 254.8 656.6
256 “ 462 15 o 336 - -
320 560 434 - -
l_Lfg XAE 3-2E23 AA AB AC AD AE AF AG AH A Al AK
J @ L 160- 82 8 34
2 M2
Y2 15 185 105 13 18 49 26 O g9 AT
8.AK — — 192, 449 7 501 30
mosE) H o ﬁ R 240 53 575
w23 \ - NN 180- 96 cTIE'
o & Mi4
\ - S 168 130 205 115 14 18 m2 28 42 gy B
g =1 g 2| wll& 226 | 54— 500 35
= = 280 507 653
200-112 38 404
AG| AF | AF |AG AA Rkl
~ A ”i/ he 20100 005 25 1 18 s 28 U8 g9 24 MO
AJ | wiohel 2g 256 566 622 35
320 664 720
% - FRONT FLANGE® X2E |
@ \ = = Z-2E23 BA BB BC BD BE BF BG BH Bl
GiER | & 4 F 160- 82 203
}—'— 142 M12 203
= jgp 2200 M0 185 16 X' 19 0 75
Dlae | &7 g 5 240 444
- 180- 96 249
BH 168 M14 343
6 BF o250 300 160 205 18 x 22 O 82
6-#BE (82 1 2E) Zﬁ 25 ﬂ
_ ) 280 515
(¥ & & s 200-112. 269
al o 92 s 0 180 225 18w 25 32 g5
@ e B 256 25 487
320 585
L el

FUJIKURA PRECISION
PNEUMATIC CONTROL PRODUCTS

AOIAMAES ()




Q((—, FUJIKURA COMPOSITES

»» SCS-160-82~200-320

é:@— - REAR FLANGE% XRE |

6-4BF
®7E 25) 6-#BE z-As23 BA BB BC BD BE BF BG BH
x 160- 82 297
({1} il Q?— P 2 000 280 10 185 16k 19
s 4R & lys = 192 20 464
A = 240 538
& w8 % | 4 : 1809 wa| 12
| BA gl 226 250 300 160 205 18 x 2 o
BB Bl 280 619
200-112 389
192 M16 509
& | A8
b g 75 30 180225 18 X 25 L
320 705
e | wg$
- TRUNNIONY XI3&
#-2E23 CA CB CC CD CE CF CG CH
160- 82 ® | 18
CF 142 137 231
jgp 26 295 40 60 205 60 ...
E B 240 2125 3065
: _ 180 - 96 1135 2175
(D —= 88 §r \ (j y 108 235 325 45 63 205 63 oo 243
N =i \g 226 205 309
g B ! 280 2065 3505
cE ‘ 200-112 2 o
ca S 192 182 302
2 2
" o | pog 2601350 45 65 250 65 .
320 280 | 400

%— - PIVOT% X2E

DA bE DB
/g'* @ @ #2223 DA DB DC DD DE DF DG DH DI
2 . 160- 82 348
L A ~ g = 142 2510 438 M12
N7 ¥ ﬁy H [mE= 192 38 70 25 28 o0 2 1 15 2XO
@‘% iy - SC B 240 589
Al -
SUH=E, | Mi4
Am2| 213 Ba 168 2812 502
DH w2 TT 2B 32 024 25 X
280 674
200~ 112 449
192 3012 569 M16
45 85 30 34 26 14
256 2 667 50
320 765
DE : BUSH SIZE

DHO| A BHALS 93t 43t 224 B0 FRMASLICE | httprwwwkaprcom | 29



SC*IEIE (L4 X9} Zt=t m&| Ol xHz)

#ed— »P> SCD-160-82~200-320

8-T #R c
EEESTEIC) 59 P
12-L JoH H J) ¢up . E Bk
WCiET 28 [/ wEEE=A\ [ [,
% T T [ G
@g | @ = - Bl Uil )2
o H mpy
é 2K A ;S_ S -
¢S j\‘ L N -
% | & A = I N
H }:ﬂi v
A 3| P|Q [¢] Q| P|3
B
B+C Ae: 7E £ B (mm)
O SCDY 7|2 X+ N:om =
#-AE23 A B C DUWE F G H | J K L M N 0 P Q@ R S T ouies
160 - 82 230 132
142 320 M30 M12 222
1p | 185 g9 % 35 70 60 5 18 Reif2 22 2 160 jopg 46 30 .o 23 26 185 215 Mi6 18600 17600
240 475 377
180 - 96 260 148
168 368 M33 M14 256
mp | 205 45 10440 80 64 5 20 Rel2 2 22 176 i 50 36 o 26 30 205 238 Mi8 2880022500
280 544 432
200 - 112 292 166
192 412 M36 M16 286
g | 25 5, 12040 90 72 X 21 Red/4 24 24 194 oo, 55 36 oo 28 35 225 262 M20 2960028000
320 612 486
I'L%' PN #-AE23 AA AB AC AD AE AF AG AH Al Al AK
M 160 -82 328 380
M12
M2 185 105 13 18 49 26 S0 g5 41O
8-AK = —- 192 497 549 30
ey B & % 240 573 625
HJEH_’E*%\ L ) - %\ - 180 -96 364 420
B % P M14
\ - = 168 130 205 115 14 18 52 28 Y2 s 9B
i Bl 22| wll& 226 563 619 35
= 280 648 704
AG| AF AF AG‘ / AA ‘ 200 -112, 1396 ﬂl\/ﬂ(ﬁ
AH 4_;| 4-4AE AB & 516 572
o e 28 25 140 225 125 14 18 52 28 oo 68 o X
320 716 772
% [ FRONT FLANGEY X35 |
$@)® a0 1€ B z-As23 BA BB BC BD BE BF BG BH Bl
I 160 -82. 249
M12
- %220 260 140 185 16 x 19 % 75
Pl | & g p 1% 0 48
240 494
o S 180 -96 282
6-$BF 168 M14 390
6-¢BE (82t 1Y 2E) @250 300 160 205 18 2)% 22 E82
(K & @ ) 280 566
q} {1} 200 -112 317
al of | B 192 M 437
o e $@ <§§> @$ 192 015 320 180 225 18 x5 X g5
256 25 537
e sle 320 637

HO|A|A|HZ(F)  FUKURA PRECISON

T PNEUMATICCONTROL PRODUCTS




»» SCD-160-82~200-320

éz@— - REAR FLANGE% XRE |

6-¢BE

B 0

oy

BC
BD

{P@{}@_@ij

BA 1BG|

BB BJ

7

- TRUNNIONY X2

o
5

M
sy

¥d-2E23 BA BB BC BD BE

160 - 82
142
192
240
180 -96
168
226
280
200 -112
192
256
320

Z-AEZS
160 - 82
142
192
240
180 -96
168

CE
#CD

# CCe9
[

/an)
\J

o}
w

CG

- PIVOT% X2E

Ly

7

DH

226
280
200 -112
192
256
320

#AEzg
160 - 82
142
192 8
240
180 -96
168
26
280
200 112
192
256

320

DA

220

250

275

CA

215

235

260

DB

70

85

260

300

320

CcB

295

325

350

DC

25

28

30

140 185 16

160 205 18

180 1225 18

CC | CD | CE

40 60 205

45 | 63 225

45 65 250

DD DE DF

2510

28 o

21

2812

32 4

24

3012

34 o

26

http://mwww.kccpr.com

<((; FUJIKURA COMPOSITES

BF BG BJ

343
M12 433
20 512
588
386
M14 494
o5 585
670
437

M16
o o5 557
30 657
757

CF  CG CH

115 1 209
160 254
19952935
23753315
130 234
184 288
22953335
212 316
146 | 266
206 | 326
256 376
306 | 426

60

63

65

DG DH DI

394
484
563 40
639
441
12.5 549 M)ld
640 45
725
497
617 | M16
s
817
DE : BUSH SIZE

14

31



series

S

o
L
0
_<
C
=
o
m
X
U

SOlJoS

PCS EIS U5

PCD 253

| EX
-1 O
e BF DIAPHRAGMS| E2I2 A2l Hwdt JISHZ0| &gt BFAZIGIILICH

J
1. JIS B 83682 #Xx| x|+~ IPS &2lH S ZE45t USLICH 2. 0o =71 =3| ML,
3. LA MM ARRlE AXANME 2SS HX[et ZAAEL| HIME 2 SIUSLIC

| 8=
e BF AZIEE &7| +E22 40ot= &4, 0[0/st = Hatol| Dizst HI32 AT A2 Z0]| O|AXULIC
1. ASH] 717] 2 3 2 HAF 28 1T Actuator 2. 2 EXlof| ofst 2ES 41 8&“ TSt Al
3 H= 2M 59| Aop| 4, st 252 U1 A2 42 FYU Actuator S (Spot8F7| S)
5. 712& Actuator
I Ak
&= g4 HE o=d 553
A2in LA mm 20 32 40 20 32 40 50
AEZT mm 10 10 10 10-20 | 10-20-30 10-20-30-40 20-30-40-50
At T 2= J7| (RE%)
AR 243 Hel  MPa 0.015 ~ 0.7MPa
ALE 25 " c 0~ 60C
F|B(Mx|) SAl 7123 LS Front Flanged, Rear Flanged, Trunniond, Pivotd

[:1] A12IC} 212 202 002 ~ 0.7Mpa
| A 5A1Q] of

PCS(D)-20-10-S0-L-ZE101-A -1

[’E,% A 420 Ud  AER3 [ Amd ZERAA ol ESE [EIE’}J 20| MM
PCS CIEEY 2718 2589 49 A 1m 1 1
PCD =53 S0 Amagls B 2m

St EE A 2
2z 7=y
L L3
F Front Flange® 2715 glg
R Rear Flange® ZE135 2MA 2 FHY BAIS £, 2|=M 2ust pCl0~28Y
T Trunniong ZEIS5 3444 2 HAS BAIS 22 2lcM S5 DCAS~28Y
P Pivotd ZE235 244 2 BAIS th 2|EM AlESE DC10~28V

ZE255 3MA R
ZE101 244 2
ZE201 24Al 2
ZE102 284 R
ZE202 24Al 2

HAIS FA 2|EM st DCAS~28V

HAIS G5, 2= &dist DC5~28V, AC85~115V
HAS ‘310 2|EM Mrek DC5~28V, AC85~115V
HAIS FAf 2= gytsl DC10~28V, AC85~115V
HAS —‘?'—’3, 2lEM Mfel DC10~28V, AC85~115V

_|

09! o2k o2k ok ok oQE 092 ok

_|
jizaliealiliallitaliallie
04 020X 0 ox 0X oo

_|

HOJAA[ R () Fuumarreason o BEDY

T




PCMEZX v 7xot 212 22 2 apm

= OFx
pr s U=F
BFCto|ofZ2Y
yalg ST
AN B4R
2elLf Z2fo= o
Lj\ \\ %{?“ TYECHYE Y
I nEz
/‘%@g
™ sl 7o
/ e 1 nsg
EE
2C 74 % % -E
ama W H
I \ \ u
I— Ty 5
I
2|2
=
P EF%
26l Z2jo| =2
2444 BFC}O|O}I2H F
e BFCHOjOFZ2Y R
mAE
BUF
oo %‘ﬁ ATfOIA]
\ F*E‘
| BUR
/ e T CI=EE
. 22t 74
YR Y YZ 2 JLE
2c 74y 5
2c 4l 5
a0 2|2/
SEALS O|5LF O ASE A o
DACo| A TS 9IBH 24T 2 2M AZ0f

E0|E
Ama
PN
2C Iy
3= 7
XIX|cH
BF Clojor=2
ey

AE

® Z2% xix
CHE
HLEF-R
AziH
AT0|M
OAE

1=}

7]
E20/E
A
s2e
2= A
HE 7t
X|X|[cH
BF Clojoja!
2c
i
o8

AE 2]
—= o

o

e

k
k

UZ0[E

A20|E
U20lE
U20[E
AH|QI
@507IK
U205
mjofe Mz
K| XM

ol

O0|E 2|

fO|E X2|
O0|E Xe|
00 |E X2
3E =3)
3g =3)
O[0|E &2])

MLl

oN o[ ot of1 ol

re
oY

O
0

)
)
)
)

=555
2 M

O

k Iy

[> ol ol ol
I

rere
> oy

o
1l

k

o
il

(

Il
4

[ Q(Q, FUJIKURA COMPOSITES

U=0E g (RS X2
—1

yz0js 32
AHRIRA 2
Z Sof2t 2led 12
£z 1%

(LF0H0|E X2])

e m
o |

=]
mr
gg

[> ol ol ol

e
U205
U205
LUR0|E
AHQ1
@507kx
U205
=]
X[ A4
e

=

(r)g oy oft oft o ofd
e
U
Ju
ofu
i

ol
O oH

(YF0I0[E X2])
(Y=0/0[E &2])

oo [

U=0E g2 (o2 YEH X2

U20|5 gF (Y2010IE &)
AH[QIA Z

I S0zt 2lEE 17

=== =t

et 2

2EZ 12

%

http://mww . kccpr.com

33



PCAIY X (s mxot 2= o3l 9l xim)

= »»» PCS-20-10-SI~40-10-Sl

fol
Tjot
By
=
]

|M]
B C

2-055 HE1Y A

@9 AZ T[0|4] 20| 5.4(2%)
O PCSH 7|2 X|+H

- _ AT

g 4 A B © D K M N (0] P R S T U \ W X Y fETUHY cacz %’7I_—E5 BF Clojor=3
20-10-S1 505 45 46 - M5082010 4 5 M5x08 M6 ZO[M2 - 36 255R235 10 8 - - 269 294 490 PC-DM-20-20

32-10-S1) 74 15 59 495 Mexi.5#oi3) 65 75 Rc1/8 MG ZHOM2 45 45 34 R30 16 | 14 175 15 684 490 7.85 PC-DM-32-32
40-10-S1 88 17 71 57 MB«25%o03 65 115 Rc1/8 MBHO[M2 5 52 40 R345 16 14 205 175 1100  7.85 11.8 PC-DMi-40-40

LY ARE
- i
s AJ
oT A
X B C
Y | K M o N
/7 |—|
[ o /
¢ | i 1T
T
4-AL &
(82 79 23t
HH EE) <
< ; - } fffffff [—
Q =
\/ a| < |
T OF
11 [T w T T
' AF AF
AA 285 AH AG
AB 4-QAE Al
g 4 A B C AA AB AC AD AE AF AG AH A AJ AK AL K M N O P R S T U v W X Y

32-10-S1 74 15 59 34 45 285 32 66 15 7 |89 103 89 555 M6x12 M8x1.25 Z0[136.57.5Rct/8 M6 Z0l12 45 45 34 R0 16 14 175 15
40-10-S1/ 88 17 71 40 | 53 325 32 66 15 7 101 115 103 |63.5 M6x12M8x1.25 Z0[136.5115Rc1/8 M6 Zol12) 5 52 | 40 R345 16 14 20.5 17.5

s A
oT
X B C
Y e LR M 552 O N
1 /
¢ ; @ i
4;),1;
4-AL {
(82 7y 23
HE| BE) x >
RN TR = —
4
o L
< 1N =
2 s
I I 1 I I w L I —
AA o= AF :\:1 I/_\Z AF
AB 4-QAE AJ AH
Al

g4 A B C AA AB AC AD AE AF AG AH Al AJ AK AL AM K M N O P R 8§ T U VvV W X Y

32-10-S1 74 15 59 65 78 285 32 6.6 125 6.5 40.4 734 24.3 55.5 M6x12 10.5 M8x1.25 Z0[136.5 7.5 Rc1/8 M6 2012 45 45 34 R30 16 14 175 15
40-10-S1/88 17 71 73 87 325 32 6.6 125 65 524854 26.3 63.5 M6x12 10.5 M8x1.25 Z0l136.511.5Rc1/8 M6 o2 5 | 52 | 40 R345 16 14 205 175

AO|AA|ZZ2(Z)  EIKURA PRECSION

T PNEUMATICCONTROL PRODUCTS




Q(ﬁ; FUJIKURA COMPOSITES

1 »»» PCS-20-10-SI~40-10-S] FFroNT FLANGES #h:% |

s
T
5T o _N_ é
i I ¢ ,r—m\ -
" ST O]

oV

W, N e

M| BG BH
BI BJ
&4 |BA BB BC BD BE BF BG BH Bl BJ BK | BL K M N (0] P R 8§ T U VvV W X Y

32-10-S1/58 72 33 48 7 M6x12 8 59 7 67 3 51 M81.25HO[M3 65 75 Rc1/8 MeZo2 45 45 34 R 16 14 175 15
40-10-S1 70 84 36 5 7 M6x15 10 71 7 8 | 3 59 M8x125 Z0[13 65 1.5 Rc1/8 MEHol2 5 52 40 R345 16 | 14 205 175

% - REAR FLANGES tRE |

os
or
X 4-BF
v ffK 4-P 287 0 _N_ (BA7Y 23 HE 2E5) 4-9BE
2 I ‘ ¥ I S
[T ) x Il T ——
|

|
1
BI BH BG BA

w
2HE BJ BB
g 4 BA BB BC BD BE BF BG BH Bl BJ BK BL K M N O P R S T U V W X Y

32-10-S1/58 72 33 48 7 MBx12 8 59 15 8 3 51 M81.25 O[3 65 75 Rc1/8 MeZol2 45 45 34 R0 16 14 175 15
40-10-S1 70 84 36 5 7 M6x15 10 71 17 98| 3 59 M8x125 Z0[13 65 115 Rc1/8 MEZol2 5 52 40 R345 16 | 14 205 175

D0 MAY BAS SIEt 245 £24 HTo| FYMASUCE | htoswwkeprcom | 35



PCAIY X (s mxot 2= o3l 9l xim)

=5 »»» PCD-20-10~50-50

2-@55 #E1Y
09 A% T0l4] 20l 5.4 (%) 4-P () LN N 20

2-P (28)

D
L 07 |
as
O PCDE 7|2 Xl+H
#4 A B C D K MoON N 0 P R S T U v w x vy FEEER e coomy
D-10 % 45 B2 - Mp08ZO7 4 10 5 M08 MEZOW2 - 36 255RB5 10 8 - - 269 190 AC-DUHA-
2-10 % 8 MExL25
20 9% 15 8 495 o 65 11 75 Rcl/8 MBZOWN2 45 45 34 R3O 16 14 174 15 684 483 PC-DM-R-32
30 | 106 o1 #o[13
40-10 | 114 97 s 20
Do o sr MR 65 115 115 Re8  MBEOM2 5 52 40 R345 16 14 205 175 1100 903 PC-DM-0-40
40 134 117
50 -20 | 136 18
0 e B g 7 MOWSEN 7 poys MeZoe 7 64 50 RA25 20 17 216 19 1770 1450 PoOM-50-50
50 | 156 138
8 A A B C AAABAC AD AE AF AG AH Al AJ AK AL
2-0L 9% 8 11 125 111
b LY AR 20096 15 81 34 4528532 66 15 7 111 125 111 555 M6xi2
A L 3011106 Of 121 135 121
0-0-L 14 97 127 141 129
0014 o7 127 141 129
g? AAJ 301@ 17 @40 53 32532 66 15 7 137 151 139 3.5 M6x12
- - - w0134 117 147 161 149
N . . 50-20-L 136 118 154 172 154
‘ « ity - 20-L 136 . 118 154 172 154
¢ i un| il aoiup 7T ipp 50 B4 3832 9 18 0 [ L 77 MBS
AL € 50-L 156 138 174 192 174
(82478 2 h
S 2e) Jd - #4 K MNMMNMO P RS TUVWXY
} 7 1= ® ‘{ }77777 777777 —1 32-10-L
04| Mext.25 Re. M6
N ¢ i jﬁ B 13 05 1 75 g zoipp 45 45 R0 16 1 e 5
<<
1T ] i w - T 40-10-L |
25 Re. M6 R
An WE | AF e ] 2L IMBX12S 65 415 115 5 52 40 R 16 14 205175
AB \ 7 e AH AG| 30-L | Ho[13 ™ /8 #0112 34.5 s
4-QAE Al 40-L
50-20-L
30-L | MiOx15 Re. M8 R
ol Zols T2 12 1 it 76450 S 20 17 216 19
50-L
8 A A B C AAAB AC AD AE AF AG AH Al AJ AK AL AM
2-0L 9% 81 624 %4 V6
F =22t x2E 219 15 81 65 7828532 66 125 65 B4 %4 243655 X' 105
201106 Of 724 1054
0-0-L 14 97 784 114 »
0014, 97 784 114
30t o 7 gy 73 87 325 32 66 125 65 gy 0 263635 x 105
s w134 117 %4 1314
oT A 50-20-L /136 118 9.4 1344 Ve
B C
AR AR PR e " L ots o BT 10338 32 9 14 8 BT x w
¢ - ™ - ot el [0 St K
| . - - 50-L 156 138 116.4 1544
AL R g4 K MNMNO P RSTUVWXY
(E7py 22t 32-10-L
25 2E) 0L mex1.25 Re. M6
SHE < g[ { ) e —7—7—5{ B 13 65 1 75 g o 45 45 R0 16 4 e 5
a 2 AL B ks 40-10-L |
g / 20-L | M8x1.25 Re. M6 R
" | n . = - D st %oi1s 65 15105 08 ouly, 6 62 40 f5 16 14 205175
AA HE AR | AG A,] AF, 40-L
AB 4-PAE A ‘:‘ 50-20-L
30-L  M10x1.5 Rc ' M8 R
ot ot 72 12 JG g 7 B4 50 5520 17 216 19
50-L

5'1|0|A|A|%5|—3—($_) FUIIKURA PRECISION

PNEUMATICCONTROL PRODUCTS




% »» PCS-20-10~50-50  FRONT FLANGE® AR:E |
s
0T
4-BF X
(8U72Y B3 BE BE) K 4-QBE N 20 Nz_ Y
G ¢
- [ \ }\ "J L“ % / \| ["3
& | /& MO %}g;
% ) 88 a 3 et \ g
\T/ N\
o
T& [ &9 )
BA W M| BG BH
BB 25 BI BJ
8 4 BA BB BC BD BE BF BG BH B  BJ BK BL K M Nt N2 O P R S T U \' W
32-10 81 89
M6
20 58 72 8 48 7 x 8 8 7 8 3 5 "o es 75 Fo MO 45 a5 3 R0 6 1
12 s I
30 of 99
40 -10 97 107
20 M6 97 107 M8x12.5 Rc M6 R
0 70 B 3 % T X 10 o 7 p 359 G 65 WS S pa g, 582 40 gip 16 W
40 17 127
50 -20 118 128
30 M8 118 128 M10x1.5 Re M8 R
o BI04 T0 9 X 0 e 8 e 4 T S T T2 T2 e gl T B4 50 455 20 7
50 138 148
E: - REARFLANGE® X3E |
s
OoT
X
Y fﬁ 4-P 4-BF 4-0BE
. ] i} N 20 N (8279 23 98 gE) °
/ T \ o
A ! 17 T —
DO €r G® @4
— L e | - EEE
& &0 I | | @9
- w Bl BH BG BA
2 F BJ BB
g 4 BA BB BC BD BE BF BG BH B  BJ BK BL K M Nt N2 O P R S T U \' w
32-10 MG 81 104
20 58 7203 48 7 x 8 8 15 104 3 5 " 65 75 o MO 45 45 3 RO 6 1
12 Io I
30 of 114
40-10 o7 124
20 M6 97 124 M8x12.5 Re M6 R
a0 70 B B BT X 10 o W 389 B 65 WS S g g, 582 40 g5 16 W
40 17 144
50 -20 118 146
30 M8 118 146 M8x12.5 Re M8 R
o B 04 IO 9 X 10 e 8 g 4 TGS T T2 T2 e gl T B4 S0 455 20 7
50 138 166
DM O| ALY SEAS 2ot R4t £F 4 A0 QM AUSLICE | http://mww kecpr.com

Q(Q—, FUJIKURA COMPOSITES

205 175

205 175

216 19

37



MM A1X|

»ry 2 HH gl

b
(= R=

>3 Y EY

F IR

A
J
o
[l
ril
o
o
Kl
oQ!

X

0= T ElY

—T
3=

ZE135 ZE155 ZE255

M

>

244 34441 244 3u4)

M

oz |4

&

HR
o
odk
0x
ool
o

—
HIS
o

Ol

k

e |

0!

DC4.5~28V DC4.5~28V

orx o=
n

TO}

rz
n e

DC10~28V DC4.5~28V DC10~28V DC4.5~28V

rx

25i6ig

4~20mA (25°C, 60°COllAt= 10mA) 50mA MAX. 4~20mA (25T, 60°COllA= 10mA) 50mA MAX,

AH|IHE

10mA MAX. (DC24V)

10mA MAX. (DC24V)

LSR5

4.5V MAX, 0.5V MAX. (&, et 10Volsk= 20mA=) 4.5V MAX. 0.5V MAX. (g, Tef 10volsk= 20mA=)

—A
ATE

TmA MAX. (DC24V, 257T) 0.52A MAX. (DC24V) TmA MAX. (DC24V, 25T) 0.52A MAX. (DC24V)

SEAR

1ims MAX

iy

100M QMIN. (DC500V TIZt2AM, H|0|A - 2|E4 HHREALO])

LR

AC500V(50/60Hz) 122t (#[0]A - 2|=M HELAO])

i

LHSZ s

WES 52

294m/s*(30.0G)
SZI= 1.5mm. 10~55Hz(88.3m/s* 9.0G)

H2S3x

IEC IP67. JIS C0920 (L=3)

SEEA|

ONOIXZ m, XA LED QICIA|0]E(0] HS.

2lEM

PCCV0.2SQ x 2R ) x § 53 | PCCVO0.155Q x 2&(%1 3 8) x 0 xx3| PCCV0.25Q x 2M(ALE) x 0 %53 | PCCVO0.155Q x 3AREE,B) x 0 3

FHRE

0~60C

HE2T HY

-10~70TC

£

15g (2I=4 Z0] A : 1000mm), 35g (2|=A Z0| B : 3000mm)

% %3 2= 20|

. WS gt T2

2. AL Aol

2 St MF0f mat HSSiLCt
oJst

=.

A 1000mm B : 3000mm

0 7 HH EfY
5= a4 ZE101 ZE102 ZE201 ZE202
HiAMEEA] 2044
2|EM Hisk s REE
Bt DCh~28V AC85~115V(rmss)  DCI0~28V AC85~115V(r.m.s) DCh~28V AC85~115V(rm.s)  DC10~28V AC85~115V(r.m.s)
B3iug 40mA MAX, 20mA MAX. 5~40mA 5~20mA 40mA MAX, 20mA MAX. 5~40mA 5~20mA
LHESIZESY x| 0.1V MAX, (8517 DCA0MAE) 3.0V MAX, 0.1V MAX. (£5IF DCA0mAE) 3.0V MAX.
L OmA
SEAIZt ms MAX.
Ho{x{st 100M OMIN. (DC500V HIZI2AM, A0|A - 2[=M H2AL0])
Li 2t AC1500V(50/60Hz) 127t (Al0|A - 2|=M THEEAfO])

LIS sz

294.2m/s’(30.0G)

LHEIS 52

SIS 1.5mm. 10~55Hz(88.3m/s* 9.0G), £t& Fif 2570+250H;

IEC IP67. JIS C0920 (=)

CETES

SXEA| - (ONOIGiS , HA LED QlCi3o|Efof HS. e (ONOIGiS , HA LED QlCi3olEfof &S,
2leN PCCV0.25Q x 24 (xt- &) x 2/E]

Fol2E 0~60C

CEITED) —-10~70°C

HEE S Z2 (MH 235 S Sl0IFATIS BiRiLICH)

Y 159 (2l=A 20| A : 1000mm), 35g (RI=A Zo] B : 3000m)

% 31 R ot

X 3, 2= 20|

AOIAMAIES ()

=}

o
X 32, AR Al A

k

2 TF0f w2t HSELCE
A

=t
olst

21000mm B : 3000mm

FUJIIKURA PRECISION
PNEUMATICCONTROL PRODUCTS

38



= DC10~28V

>
.
*
B
ol

0 HAS &

- TR |
@ 344 Ef¢l o HAIS Qi
’’’’’’’’’’ 5 - =

|
Y
|

zemEH J L
Eﬁ—; A

»
Ll

T—-j$6}
‘ = DC4.5~28V

|

I — 7 I —
E MM A XIZE EEM F 9 |
©® 7 A Ete! (ZE135, ZE155)
M2.5 BELIAL
HAs
MR 3
T
© 4 V) s
] =
| L8 |
(6) 222 23| 60
155 [/

(£=A:1000, B:3000)

= AN AR XS (RS 4% 9 |

o 7 TH EIY (ZE235, ZE255)

M2.5 HE LA

A
e
N
()]
10.5 Aé
(¢=A:1000, B:3000)

4.6

o
o7 MH

Et2l (ZE101, ZE102)

M2.5 HE LA
BAIS (ZE1029] 22)

4 )
U ———— 4§
©
~N
== & ))
«© )
ol = | ( == =
(10) ‘\ 2nAE 97| 60
22.5 £

(£=A:1000, B:3000)

o
o7 My

Etd (ZE201, ZE202)

M2.5 HE LA
EAIS (ZE1022] E2)

(8)

==
60
A:1000, B:3000)

P26

i
1=
11.5
(0=

ST —
<
(10) ‘\ 2D2UE 93|
22
of =4 A| 30| AZM ST

Q(ﬁ; FUJIKURA COMPOSITES

Xk
S|

=(+)

d(=)

http://mww kccpr.com



MM A1X|

P & BE MM AgX]e] HEHED O
- R T MM ASIXIZ OHEHOR AISIAY| AL SP7I] BSLIRE ANEI0] FAIIS BRILICE

25 BOlEA PEfo| 5)S HAY B | 8% MAPHERY 32 (@M ZotHOemt He B9) |
/3_ S 1~5mH
NP K ETR g IR o e B
= MM 290 == = L 5t 912
@,,T A BEAT @,,T St okl
DC &% TO|RE E=CRS % C: 001 ~ 0.1F
AC9l 42 : CR R 1~ 40kQ
CH|RE : ek 3|2 &ET ol
SRR 3|2 T 108 0lyel LS 7K
=) o
P 2 HE MM 29X M §F
FoduEy | F3NEY
® 71250l T4 ® 7250l T4
e =
-l i = DC10~28V = DC4.5~28V
oy
o TTLH ML

ELUgss ELUgsis

ERJss 2efjo] ™

Vee

= 2 OD
® Programmable controller2t & ® Programmable controller2t &
Programmable .
= controller = Programmable ==
ozt o controller ] - ’_H*H(EI-E-I‘AH)
AUZACR} o o= ==
S HAXM
) é;'\)/l = - Too=

i COM.

N F 9

@ 2l=Ao| M| Fol5i0] FAAIQ, TS HET} o] HR0| QUIAS 1B AY B A A7} RP| 223 MAALIXI0]| TR0 2t Xp7e| 25t KAlIMS] AR

7} THAEILIC U S24M S ofFER0| H2S L/5I0] FUAL.
B 24Al0] 2 FE MAf A= TTL C-MOSEQ| HAS AA[5K| LOREAIALL. B OR(HZ) T40| 22 MMo| £ S5l0] (BI2 ST SM M2 Ssi0) IF &4
Xt 20| SO LA H5l= M| LHHE 25 CH0|QE AFRS HASH|CY, gt 2= UREE = 7‘1E7+ MMARIQ| ST BI6IE2 Hotol 27 =&
B KA AQIR|O| FH40] HI2510] BIZFUS SIUAITIZE ANDEIZ)E ARSI= %S Forgiol SN2,

L/5H0] FAAS. B SIEIME0ILE 7HA S0 MESIS SHol= L5H0] FAAR
3|C M2 Z5H Z7|7ILt IoisoR e £ Dal3t SIS =X| TOISHR, @ S0ILt 7I20] Q= FA0 ARSI ShAlol 22I510{ FAIS HIRILICH

AOIAAES(E)  FRE AT CORTAOL PRODUCTS 40|




:
=<
D I ‘
Series =
Pyl
NOVNEES A
A M
=21 £ 72 [fS5 O
(V)
M
-,
D
n

Supper 426 259

] Ex
- O
o SZE IS : TS th7| Ports Mx[&toz mEg S2E YIo= HiE0| kst
o LIRZY 17 BE0= 24 TS ME5 LREM, LMo Hojguch
o IMT =2 : {2 EIY BF DIAPHRAGM % 7|0f0i| Linear Ball BearingS Ak2510{ Z2H2Ct D=0l £21 H|o{7} 7HsSiLct
o SEH A2 e HEoT BizstA SEERILICE
o TSt Al BF DIAPHRAGMS| SEAL &ulol| 25l oflof 20| 72| AELICt,
o XF & 0.0IMPagl MYUUAME RSELICY,
o Mg XS KSoIME ReEA S
| 8
o 29! HX|0f 2fst 22 X2 mst A2 22! 59| Actuator2M AE,
e Q07| 7| 52 D™=l 242t Aof
o UGSt EZ2Z ¢ HE 42 YU Actuator &

I AR
gl SCD-20-20K \ SCD-25-25K \ SCD-32-30-K
AR S olE =
XS g4 =3
AN mm @20 @25 @32
AEZT mm 20 25 30
S5 LUHY
T o= 218 / 269 347 / 398 605 / 684
Al o3 9| MPa 0.015 ~ 04 001 ~ 04
ANB ez HY T 5~ 60
7101 &4l 2[L|o] = HofE
2t E& 2 Re M5 x 0.8

| &4 BAl2] o

SCD - 20 - 20 - B0 - K
xE aAl Main 1 AEZS [ o 22 g

BO 2|L{0f = H|0f&!, SEAL 8t
Bl 2|L{0f = H|0fZ], = SEAL

ajo

AYMASL LT | http://www . kccpr.com

41



series

Sauas :)J_ d3IANITAD 49

A2 STMTE nF=2 Y MO7h 7hsS LT,

1. 2 Efez HX| 0| Altet 20HM EA=USHC

2. ol LSYS 71 DIAPHRAGME ARZ3t0d 3729 =£0] 79| Si&LICh

3. Y=0[ Z0stH| Heloto= 2o HHSELIC, 4. A EX| 20 REEA AHSELUCH
5. 22 7] 20 oi| et HSF7+ glo| m=Zof ZEo| He| gL

12
e BRARRICIE 27| =52 A0sl= &A, 30|53 H5j0] DIZi5H HISS AT M H0| oAEQlL|CH
1, ASHO 717] & 2 E TAL 28 02T Actuator 2. 2 2210 4

9 ERYC = PPN S
3. #=, BM 59| ¢infy| 4, Qe ES Y0 A2 FF, Y2 Actuator S (Spot 87| S)

5. 7128 2F2 $ist Actuator

M.

I Ak
EL TS-12-3-S1 | TS-20-3-St | TS-30-5-S1 | TS-40-5-S1
EE g4 oE Y&
Az 2Z mm 12 20 30 40
AERT mm 3 5
R HY mm? 80mr 250mr 570m 1050mr
Springt& Zero Stroke 0.39 0.98 177 4.41
Springt& Full Stroke 0.59 1.76 3.77 6.37
2E9| 3| 8ix| 7|7 %S
At R A= 37| (F=H)
AL ot el MPa 007 ~ 05Mpa | .02 ~ 0.5Mpa
Al 2 HY c 0~ 60T (&, 52 =7
b2t M4 M5 x 0.8 (ILIA})
=2 35g | 65g . 110g . 160g
LRt MPa 0.75

TS - - ST

22o 5g AE23
I:|12~3 / 20~3 / 30~5 / 40~5 |

AOIAAIHZEF)  ERETATESRM. producTs 42|

o




TC lIE]I (LHE 2xQ} 2t HX| gl THA]) —— C(L FUJIKURA COMPOSITES

»» TS-12-3-SI1, TS-20-3-S1

4.5 M5X0.8
(@]
/ s
N
3
- 2-E
5 (#0] 4)
|
- \& )
BN ey [ By a
I P 2, D P (]
i NG 7
i 7 ~ T
G 19.3 5 OA \TS-1ZE M3 20| 3

TS-202 M4 0] 4

»» TS-30-5-S1, TS-40-5-S1

4.5
Tl
M5X0.8
@4 20|15 2.E
3-M3 20| 4
P@10H7 Zo[ 1
TR (75 (R0
NS & \SZ \

A o L
L s 0

(AR < It 7S

NS N |2

193 || 2 PH OA

O TSY 7|2 Xl+-H

g A A B C D E F G H
12-3-S1 25 33 5 17 (3581, 6523 #0| 35 (UBH) 4 15 -
20-3-S1 33 42 10 24  (J358W, P65%Z Ho|35 (UBH) 8 17 -
30-5-S1 43 57 16 32 (4583, 08 ZZF H0| 55 (UBH) - - 1
40-5-S1 53 68 21 40 (35583 JO5%F €055 (UBH) | - - 16

T 0] MA B 9I5t 945 S22 M HBO| FHMASUCH | hto/fwwkeprom | 43



Sauas GJ_ 43IANITAD 49

senes
1 5%
o M2 SIME DH=Z Y M7t 7FSEILICt,

1. =9 Ele= HX|9| =0IE Z|chHet EA EA| =IASLICE

2. Holt BEHE 71 Diaphragms AE510 3712 20| 72| GlELCt,

3. &=o| ZolstH| Hatotoe TS| HESELICE

4. AR FX| 20z HEoH ASeLCt
| AFS

L TD-20-3 TD-30-5 \ TD-40-5

S 4 =35

Azin 5 m 20 30 | 40

AERI mn 3 5

1% RF 42 HY 250 570 | 1050

g R4 U= 371 (FE7)

A2 o3 He| MPa 0.02 ~ 0.5Mpa

L &4 MPa 0.75Mpa

ABezH T 0 ~ 60T (2, 52 87

HiZ E&F M5 x 0.8 (ILIAY

o 54,79 \ 113g \ 17159

% B AEZT A0 FE SUEEHE

| SA 5Al2| of

AHOA A ES(F)

D -

- S

A2iM g AE23
I:|20~3 / 30~3 / 40~5 |

FUJIIKURA PRECISION
PNEUMATICCONTROL PRODUCTS

44



Q((—, FUJIKURA COMPOSITES

TC A X (s xot 2t oiz1 2l xyx)

»»» TD-20-3

$57e 2-035 BE
Uz P96 22 20| 4

uwy
Hir
&
=]

&

1

»»» TD-30-5

FHE7H 2-045 BE
o U8 S Hol 5

»»» TD-40-5

45

i

45

040
o33

FAEMZZLICE | hittp:/Amww.kecpr.com

of

d




